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Seven from:
— The customer is asked to type in their PIN
— The ATM checks to see if the card is valid/in date/stolen
— The customer is asked which language/currency they require
— The bank account details are read from the chip
— Customer is asked if they want a receipt
— The typed PIN number is compared with that stored in the chip
— If they are the same the transaction proceeds
— If they are not the same the customer is asked to re-enter PIN
— If three failed attempts transaction rejected and card withheld
— The customer is asked which service is required
— The customer is asked how much money they want to withdraw
— The amount is checked against the card limit
— If transaction is authorised, transaction is completed/if transaction is not authorised,
transaction is rejected
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Disadvantage

The cost of producing new cards

The cost of producing new readers

The cost of re-writing the ATM software

They are liable to fraud therefore compensate customers...
Increasing costs

Less money removed at transaction therefore potentially more small

transactions

...Increased administration
Increased hardware use
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Advantage

The cards last longer as they are not in contact with the machine
Attracts new customers

Reducing the cost of replacement cards

Reduction in fraud as less money taken out

Cards not retained therefore less cost for replacements

The transactions are faster

A mark can be awarded for a reasoned conclusion

If one side of the argument i.e. all advantages/disadvantages then 5 marks
maximum
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